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Comment 

	Commenter
	Page
	Clause
	Line
	Comment
	Proposed change

	Don Sturek
	45
	5.2.7.2
	13
	If I am understanding P2P routing correctly, the Figure 21 is extremely misleading.  Isn't P2P just a controlled flood where the intermediate devices accept and either forward or drop the forwarding messages to the destination?  Certainly in that scenario while the P2P RP IE will look like wha tis shown the P2P RQ IE will not. It will go to nearly all devices until the cost is deemed higher than a better path.
	Fix the diagram or explain why it is correct as shown



Resolution: Revise

Replace the figure 21 and add figure 22
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Step 1                                                     S transmits (P2P-RQ)
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Step 2   C transmits (P2P-RQ)                                        A transmits (P2P-RQ)
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Step 3         B transmits (P2P-RQ)                                          R transmits (P2P-RQ)
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Step 4                                                    E transmits (P2P-RQ)   
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Step 5                                                    D transmits (P2P-RP)   
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Step 6                                                    E transmits (P2P-RP)   
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Step 7                                              B transmits (P2P-RP)   
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Step 8                                                    C transmits (P2P-RP)   
Figure 21 – P2P route establishment
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Step 1                                               A transmits (P2P-RQ)   
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Step 2                      S,C,B transmits (P2P-RP)   (Intermediate response)
Figure 22 – P2P route establishment with intermediate response

Replace 
“Figure 21 shows an example of the P2P route establishment between devices D and H. If G has a path to H and if intermediate response is enabled, G responds with a P2P-RP IE without forwarding an incoming P2PRQ IE. Otherwise, all devices forward the P2P-RQ IE. For simplicity, only the P2P-RQ and P2P-RP IEs exchanged on the path D-E-F-G-H are depicted.”
With
“Figure 21 shows an example of the P2P route establishment between devices S and D. If E has a path to D and if intermediate response is enabled, E responds with a P2P-RP IE without forwarding an incoming P2P-RQ IE. Otherwise, all devices forward the P2P-RQ IE. In addition, for depth 3, B forwards P2P-RQ IE which is the first received. The device B updates local information for better route, but do not distributes it forward when the next received P2P-RQ has better PQM.
An example of the P2P route establishment with intermediate response is illustrated in Figure 22. After P2P route establishment with Figure 21, if A wants to find a route to D, A transmits P2P-RQ IE to S, C, B, and R. If the intermediate response is enabled, since C, B, and R already know the route to D, they transmit P2P-RP IE to A. Then, A chooses the shortest path to D and the route from A to D is established.”
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